ASSEMBLY INSTRUCTIONS

MODEL : BD419-FS(KING)

COMPONENT
Headboard Headboard Headboard Bed Slat Center Center Rail Bed Leg
Wings(left) Wings(right) | - 2set(12 pcs) | Support Leg | - 2 pcs. -2 pcs.
_______ SIS, |- 1pcs. -1 pcs. -6 pcs.
il - ]y45 9
XA o " o Ve e Fo
|““ Side Rail Footboard
: “‘ -2 pes. -1 pes.
/ ®
HARDWARE
Allen Key M5 | Allen Key M4 [ JCBC Bolt JCBC Bolt Wood Screw M6 Washer M6 Spring
-1 pcs. -1 pcs. M6 x 40mm M6 x 45mm M4 x 25mm - 12 pcs. Washer
- 12 pes. - 6 pcs. - 8 pcs. - 12 pcs.
] J E E Y] G
@ ® © ® ® ® ©

Step 1: HEADBOARD PART

Headboard

Back View

=
©)

Step 2:

PAGE 1 OF 2




ASSEMBLY INSTRUCTIONS

Step 3:

Step 4: *MPORTANT*Please lift up the bed to move with 2 or more
people.DO NOT DRAG THE BED!

PAGE 2 OF 2




	Sheets and Views
	BD416 & BD419-Model


